Use the straight-line approximation to sketéh the Bode (both magnitude & phase) plots for:
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Use the straight-line approximation to sketch the Bode (both magnitude & phase) plot f'or: {label your axis}

Ix10% s
H(s) = (s+100k)s +100)
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Use the straight-line approximation to sketch the Bode (both magnitude & phase) plots for:

{label all values on both the x and y axis}
1x10°s”

H(s) = (s+10)(s+1k)[m+10)
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a) Sketch the Bode (both magnitude & phase) plbt for: {label as many y values as possible for both
magnitude and phase and/or each slope along with showing all your work}

2
~2x10° (5 +10)? _—2*\0“(103’(%*‘1_-#
TGS — S
H(S) K} (s+1 )(s+10 ) S(\KX\O\CL)(-\-\%*}X‘DV-*\)

S\

=20 ( fo H)
9= ey |
b) What is the estimated or’actual magnitude value at ©=10k rad/sec (in dB):

tutoff Fre% S HedR -24R= H2B

¢) What range of frequency will this circuit operate correctly:

=k 1o w=|pk.
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-2x10° (5 +10)”
H(s) = s (s +1k) (s +10k)

ﬂ

e
\E'«.J]a'c‘ cllg:iggb
HedR AN X \ !
\\E ’ / gl \Lm\
\( /’”'1-/ \\\

d?

ﬁ it ‘T'
N 1
_.(\0" 89 irg
»p\\. A ,\\\‘\ 9*@ i |
2135 Vi | +
° \ l. 1\l
- \% |} N\ YH 4
0 // \\N fuc: E’\O@L |
210" 2
I 10 o roi? rrict 1*_1?5 o1

Tdopeidee | s e

T -yceslopeldec




